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4.1 0O00O0O0O0O0O
GO0000,v0000000000000,p:G—GL(V)D GO COO0O00000.
000 41000 p0000000000000
x:G—=C, g Trp(g)

0,p0000000000000.00,x00000p0007degp000000000.

00 420 0000000000000C0O0. 0000000 x0,000¢eGOUOO x(g)=1
gbooooooooo.

00 430000 GUOO p:G—GL(V)O GOOOOD HOOOUOOOOOO HOOOOO
0o0,p000 xO HOODOOOOODO.

oooooOooo vooo.
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00 4.40p, ) 00 GO COOOOOO, y, ¥ OOOOO p, /) 00000. 0000

x+x:G—C, g~ x(9)+x'(9),

xx':G—C, g—x(9)X'(9)

00000 pdp,pxpy000000.

00 4.50p, Y00 G1, G, 0 COODOO00ODO,x, 00000 p,/00000.0000,

X®x :G1xGa—C, (g1,92) — x(g91)X (92)

0pepyO000000.

00 460000 GOOOODOOOOD xOOOO,

G|, g=1000,
x(g) =
0, g¢g#1000

goooo.

000 4700000 GOOO,n=degp00,x0 p0O000CC0O. F,0nO000C0CCCO
oo,
x(1)=Trp(l)=TrE, =n.

0ooo,x(1)0 p000O000.

000 700000 GO0O000000000,000¢9eGO000 x(¢~Y)=x(g)0000
oooooo.

000 80000 GO 1000 yO GOOC*0O00ooooooDooODDDODOO.

000 48000,G00C*0000000O0OOO,GO COOOO01ODDODODOOOOOO.

000490000 GO 2000000000C0000000O0O0DO,000000O0DOCO
gogooad.

000 o000 Goooo200000000000000000.
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4.2 0000000

GUOO0OOO0OO,R:G—GL(n,C)UD GUOOOOUDODO.
000 41000000 ROOODOOODODOOOO
x:G—C, z~ TrR(x)

OROODOODODOOOOODO.

000 4110000 GOO0O00O0 R:G— GL(n,C)0,00 CO00000 p:G — GL(V)
000000000,0000 ROOOOOODO p00000O000.

000 4.120n=1000,000 zeGO0O0O0O TrR(zx)=R(x)00000,RO0O0O RO
gooo.

4.3 0O0O0O0O

udb 413000 x0OOO0OOOOOO,000000 p0b000 xUOp0OO0o0oOOo0obOOOO
u.00,0000b00000ob00oooon.

00 414010000000000000,100000000000.
00 4.150G,, G, 0000, p, 00000 G1, G, 0000000, y, 00000 p, o 0

00000.0000,00000000 pp0 G xGODO00D0O0OO0,

X®x :G1xGa—C, (g1,92) — x(g91)X (92)

0pe,y000000.

000 4.160 Gy, G, 000000, x1, X2, .., 0 G O000D00000, X, xh - X O Go
00000000000, 0000,

Xi @ X;:G1x Gy —C, (g1,92) = xi(91)Xj(g2) (1<i<,1<5<T)

0G xG,00000000000.

000 4170000 cgOO0OO0OOOOO0OOODOOO0OO GOOOOOOODOOO.
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000 418060000, D(G)0000000000.0000,G0000010000,00
000 G/D(G)00000 xo00000000007:G—G/D(G) 0000 ypoorOOODO
ooo.

000 41901, x2, ..., x 0000 GOOODOOODOOOOO. 0000,

|G|, g=1000,
x1(Dxalg) + - +xi(Dxilg) =
0, ¢#1000

goooo.

4.4 0O0OO0O0OO0OOODO

GOO000000000000000C(G)000. ¢,¢veC(@ D000, ¢+, pp € C(G)
0

e+ :G—C, g (g)+vY(9),
e :G—C, g o(g)Y(g)

0000D000.00,¢9eC(@),ceCOOND,cpeC(G)D

0:G—=C, grc-o(g)

0000000. ¢+, ¢, e 000000,0,00000000000000,000000
000 C(G)0 CO00000000.0000000,C(G)0000000000000000
ooooo.

000 4.200GU0000O000. GUUOOUOODOOOOO ¢,9v0000,00 (¢|v)0O

(o l¥) = |G|Z

geG

oboooooog.

000, (x|*):CG)xC(GE) —-CO CG)000000000000000000.
e, eC(G)000O,
(pl) =

|G| 29

geG
0000, (x % :C(@Q)xC(G) - CO C(G)000000000000000. ¢,¢v0 G000

oooooo,
(plv)=(e|¥)

oooood.

8000 ge@GOOOO ¢(g ) =g =y()oOoooo.
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000 4210000 GOOO0O0ODO0OO0O0O0O ¢, 0000000, (¢|y)=000000
googo.

4.5 0000000

000 4220000010000 x1,x 00000000 GOOOOO pg,p. 000000

0o,
07 p17ép2a

(x1 | x2) =
L, p1~p2.

000 42300000 20000@ vy, ..., 0000 GOO0O00O0OO0O00, Ky, Ko, ..., K,
0G0000000,¢,¢,...,0000000000000.0000

0, %0 g, 00000000,

!

1

@l E Xi(gu)Xi(gv) =
i=1 1/|K.|, ¢.0 ¢, 000000.

000 4240000 000000000 GOOOOOOOOODOOOOOOOODOOOn
O,00000000,000!=¢t000.

000 4.250 Z(¢,)0 ¢, 0 GOOODOOOOO® 0000,

_ G
1Z(gu)]

00000.0000000000200000000000000,

0, % 0g¢, 00000000,

l
> xilgu)xilge) =
i=1 1Z(gu)], 9.0 ,000000.

goo.

4.6 0O0O0O0O

pi:G—GL(V;)(1<i<h)0 GOOD0D00D00D00D000000000Y. p;:G— GL(V)
0 GOO0D000000000, Maschke 000000000 GO COOOO0OO0O000O0O0O0O
0,,000000000000000000.0000,p0

pPrO-- D1 Bp2® - Dp2D--Dpp DD pn
—_——
mi ma Mh

Q)Z(gu):{$€G|xgu:gux}.
gooooo0D0Oo0O0O0O0oDOoOoOooOooooooo.
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gobooob.obogoo

p~ mip1+mope + -+ MupPh

000,000 p00000000. p;0 p0000000D0. 00,m;0p0000 p,000
0000.0000000,p0000y, 0000 zOOOO,

X = mix1 +maXxe + -+ MrXn
goboobo. oo xyoboobooob. oo,
m; =(x|xi;) (1<i<h)
goooo. m 0 xOobobooooooob.my>0000, U0 x0000000OO.

000 100000 GO 20000, /00000000y, x000.00000000,x=y
000 p~p 000.

4.7 OO0

000 4260000 GO0O00OOO0OODOOO0O pOO00DOOQCO0ODDO,000¢,heGO0O
oo

©(ghg™") = o(h)

gobgooobooog.

000 000oooooooooooo,0obooooooooooDooog.

00 4.2700000%W0000000.

b0 1oooooboooooboooooon.

GO0U00O0O0O0ooOoooooccG)ooo. Cc(G)o,GUuoouooouooooooo
0ooU0oo c(G)oooooooo.

000 120C(G)000000D0000OUDO0OO0OUD GOUOOO0DOO0OUO0DOOoUOoOOooog.

000 4280 GU000O0O0O0OOO CG)DODOOUOOooOOO.

Wopooo,000 geGO0O0000O0O0O0OO0O0O.
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xi,..,x00000000000.000000 0O

Y=ai1x1+ax2+- - +ax;, a €C

oooooooooo,
a; = (¢ | xi)

gbooo.oboo,0ob01000040d 9Qd

v ="byx1 +bax2+---+bx, b eC

ooooooo,
!
(‘P|¢):Zaib7
i=1
ooo.
4.8 0O0O0OUO

X1, X2, --, x: 0 O0O000000O00O0OO.
000 4290000 GOO0O0OODOOOCODO 10000 GUODOOUOOoOooo.oooo,
mix1 +maxe +--+Fmyx, My €Z

ggbgobogoobogooboooog.

GO000000GOO000D00000000.00,0000 x0000,x00000000
0x000000000000000100000000000000000.00,00000
ooooo.

Clz(G)000000D000000,Cly(G)0 2000

X =miX1 +maxz + - +mixi,

X' =mix1+mhx2 + - +mix

oooo,
1

XX = (mi+mxi, xx' =Y mimixix;
i=1 4,3

000000,0000,C(G)00000.000, uy; =x;x;00000 00,Cl(G)0
oooooo.

000 4.300Clz(G)0D soOoOoooOoO.

129000000 p1, pe 0000,2000 p1 Xxp2 0 poxpy 000000000,
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000 43100000 GOOO0O0000000,x000000000000000000, x
D000 (x|x)=100 x(1)>00000000000.

000 4320000 GOOOO HOOD pO000000DO0OO0O0OOOOD,HO pO0®OoO0O
ooboobooooboooooa.

000 4.330Braver 00000 MM 000 GUOOOO pOO0O0OCOOCOOOOOODODOOOO
O,G000000000 FOOOO 0 FOODODOO FOOOODOOUOODOOO.

49 0000

GOOOO,HO GOUOOOOODO. CG),C(H)OOOUOO G, HOOODODOoOoooOooo

0000ooooooooog, CG), C(H)OO0ODU0O0 G, HOUOODOOOoOooooooooo
C(G),C(H)0D0D0000o00.
YeCH),zeGOOOO

Y(x), x€H,

V() =

0, ¢ H

oo

0(y~1

|H|Zw y'zy)

yeG
0000,9¢eC(G)00000.00,¢yeC(H)000¢%cCl(G)00D0.

000 43404 e Cl(H)0DD0D000,¢%eCl(G)0 %0 GOOOODOOOOOOO.

C(G), C(H)DODODOO0000 (x#)g, (x,+)g 00000000. 0000, ¢, ¢ €C(G)00
ooo,

(¢ ¥)a

IGI 2 ¥le

zeG
00, ¢ ¢veCH)ODODODOO,

(o | ¥)m |H|Z

zcH
000 4.350 Frobenius 0000 M 000 e ClG), v e C(H)ODOOO

(pr | ¥)r = (¢ [ ¥)a

O0ooo0oD.0D00,egd 0 HOOODOOODO.

B)gooo0Oo pO0ODO0D0DOODDO pOODOO.
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4.10 0OOOO
GO0000000,zeSOGOOOOO SODOOO
S =3 1Sy = {z sz | s € S}

OoOo.o0oo,
Ng(S)={z € G| 8" =S}

O000. Ne(S)O gooooooo™,

000 4360000 GOOO0ODO SO TIOOY®OOOOO,000 x€G\Ng(S)oDOOO,
o 5N ST ={1}.
e SNS*=4.

gogboobobbobboobooboon.

000 4.370 Brauer-SuzukilD GO0O00, SO GO TIOOOOO. &, &, ..., & O Na(S)
ooooooo

o {i(1) =&(1) ==& (1).
e D00 zeNg(S)\SOODD &(z) =&(x) (1<i<w, 1<j<w).
0oo0oooOoooooo. 000D, Eo0000 x1,x2, - Xxewde=£100000
G —-&)C=e&-¢) (1<i<w, 1<j<w)

00D000.000, (& -¢)°0¢&—-¢00000000.

000 4.380000000000 GOOOO00 X1, X2, -+ Xo O &, &, ..., & 0000000
ooooo.

goooo,b000Gooboooooooooob0 qooooooooobooooooooo
0.00000000,0000000000000O0.O00,0000000000O0O0,00O
go0oDoOooooooooOn Feit-Thompson DO OOOOO, D0D00OD0OD0ODOOOODOO
oboooog.

WNg(8)0 S000000000000000.
15)TI O Trivial Intersection 00 0.
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5 00000000

5.1 7Z/2200000

G=7/2Z000.00000000000001000000,
{0422}, {1+27}

0GO0000000000.000,000000000000DOOOO00O0OOODOOOOO.
000 Gooooooooo 2000.

GO00O0O0O0D x1,xeOOO. O00,000000000000. @000D0OOOOODOO
gbooooooo. ooo,

00,00 41900,
x1(0+2Z)% + x2(0 +2Z)* = |G| = 2.

0000000000000000000,
x2(0 4 2Z) = 1.
000041900,
0= x1(0+2Z)x1(1 + 2Z) + x2(0 + 2Z)x2(1 + 2Z) = 1 + xa(1 + 2Z).

ggd
x2(1+42Z) = —-1.
ggod,obbbboooooob.

(0422} {1+22)
X1 1 1

X2 1 -1
5.2 Z/2Z & 7/2200000

G=7Z/2Z¢7/2Z2000. 0000000000000 1000000,
Ky,={(u+2Z,v+22)} (u=0,1;v=0,1)

0GO00000o0oooo.
§5.100,%Z/2200000 2000000

X1:2Z/2Z — C, x+27Z+—1,

X2:2Z/2Z — C, x+42Z+— (—-1)*
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Jdooodo.0gdoo,Goooooooog
X ®x; (=0,1;5=0,1)
000.000,000 (u+2Z,v+22)eGO0000
Xi ® xj(u+2Z, v+ 2Z) = x;(u+ 2Z)x; (v + 2Z).

ggboobooboboo,0booooooboon.

Koo Koi1 Kip Kin
X1 ® X1 1 1 1 1
X1 ® X2 1 -1 1 -1
X2 ® X1 1 1 -1 -1
X2 ® X2 1 —1 -1 1

5.3 S;00000
S, 00000,

K ={1)}, Ky={(12),(13),(23)},

Ky = {(123), (132)}

030000.000 $03000000000.00000 0000 K;000000 x(K;)
0ooooooo.

S;000000 A;000, Ss/As = {As, (12)4;}0 Z/220000000000. 0000
000 f:83/A; —»Z/2200000000.00,§5100,2/2200000 2000000

X1:2/22 —C, z+2Z+—1,

Xo:2/27 — C, x+27Z+— (—1)"

00000.0041800,n:85;— S3/A;0 0000000000000, Ss00000 10
ooo

Xx1=x1ofom Xx2=xp0form

gbo.gobooocoooooo,

X1(K1) = x1(K2) = x1(K3) =1,

x2(K1) = x2(K3) =1, xo(Ka) = —1.
000,00 41900,

x1(K1)? 4+ x2(K1)? + x3(K1)? = |S3| = 6.
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gobodoooooboooooooooa,
Xs(K1) = 2.
oooo 41900,
X1 (K1)x1(K2) + x2(K1)x2(K2) + x3(K1)x3(K2) =0,
X1 (K1)x1(K3) + x2(K1)x2(K3) + x3(K1)x3(Ks) = 0.
ooo,
1+ (=1) +2- x3(K2) =0,
1+1+2'X3(K3):0.

ooo,
x3(K2) =0, x3(K3)=-1.

gooo,0oooboooooon.

K, K, Ks

w1 11

wl 1 -1 1

54 0O0O0O0OO0OOOOO
GOOOnO00O0DO0O,e0 GOOODOOOO,
G={a"|i=0,1,...,n—1}

gooo.
go0,00o0o0g0 coopooogooopooogoo 1goo. 0coooobo,Gooooooo
go010000.0oo0,00o0oo0oooo0ooooo0 10000ooD,GoO0DO0

K;={a'} (i=0,1,2,...,n—1)

UnOo0obO.00b0b00obboobodbdn00Og.
1000 n000100¢000. 0000,

Xk(ai):cki (k=0,1,...,n—1)

00000000000 y:G—CX0000.000000 G000 1000000000
000.000000,100000000000.

00000, xo, X1, .., Xxn1 0 GOOOOODODOOOOOD.

000 r=5000,000000000000.

29



Ky K\ K, K; K,
Yo| 1 1 1 1 1
xi| 1 ¢ ¢ ¢
x2| 1 ¢ ¢ ¢ ¢
xs| 1 ¢ ¢ ¢t ¢
xa | 1 ¢t ¢ ¢ ¢

6 UUOOooono

6.1 00U

000 6100 ADDDOD ROOODOOOOOD, A0 ROOODDODO,000r€eR, z,ycAD
00O

r(zy) = (re)y = z(ry)
oooooooooo.

ob 620000 ROOD ROOODODODO.
00 630000 ROODUODDOOUODn0000O0O0OO M(n,R)O ROOODDOOODO.

000 640 A, BO0O0ODO ROOOOODODO. OOOODOOOOOO f:A—BO,000r€eR,
reAO0000

flrz) =rf(z)
gooooo, fO0O ROODOOOOOODOOCOOOOOODOO.DDODOOOOOOOODODOO,
fOROOOOOOOOOOODDODOODOOO.

6.2 00U

ROOODO,GUODOOO, RGIOOODO

Zaga, as € R

ceG

000000, RGO 2000 ¥,c0t00 Y, cqboo (a5, b, € R)OD,0,000000

Z g0 + Z beo = Z(ag +b,)0o,

ogeG c€eG ceG
(Z aac;') (Z bga> = E Co0, Co= Z arbr 14,
ceG ceG ceG TEG
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reR, Y, cqt,0 €RGIOODODODODOOD

- Z ;0 = Z(rag)a

oelG e

00o00o0o00Oooo, RGO RODOUOOOOO.

000 650R[G]0 GO ROOODOOOO.

000 660000000000000000000000C0OO.
000 GOOO000 ROOOOOOOO Map(G,R)000. f, g€ Map(G,R)0000, O,
oo

(f+9)(0) = flo) +9(0) (0€G),
(fx9)@) =D f(r)g(r'o) (0€q)

TEG

reR, feMap(G,R) 0000000000

(rf)(o) =7r-flo) (0€G)

DDDDDDDDD,Map(G,R)D ROOOOOOOO.
Map(G,R)0 R[G]00000,RO0DOOOODODOOOOO
Map(G, R) — R[G], [+ Y f(o)o
ocelG

00000.00000000,Map(G,R)0 RG|ODOUO0OODOOOODOOO.

6.3 UOOOOO

K[G)0DOOO GO0 KOOODOOOO. K[G)0000000,K[G)0voOoooo,zeV
0ooo

(S ar) o= T ar(to))(@)

ceG ceG
00ooUooOooooooo,voo K|[Glooooo.

00,VO0OO0K[G|0O0OO0O,VO KOOOOOOOO0O00O,z€V,0eGOO00,VO
ovoo KOOoooooo
plo): V=V, x—ox

googo.ooba
p:G—GL(V), o p(o)

gooooooooooo.oooo,p0 GO KOOOOOOO,vo pOO0OOOODODOO.
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000 670V, V00 K[G)OO, p1:G— GL(VA), p2: G — GL(V,) 00000 Vi, V00
000000000000 GO KOOOOOOO. 0000, W, %00 K[Glooooooo
0000000000000, p,, p. 00000000000,

6.4 0O0O0OOO

K|[G|0OOUOO GUO0 KOoOUOOoOoOOoOo.vo KOoOooooooo,End(V)O VOO VOO
goobo0o0ooDoo0oO0o0 Koooooooo.

000 6.80K[G]00 End(V)00 KOOOOOOODODDOOOOOOO, 00 K[G]O KOO
ooooo.

p: K[G] — End(V) D K[G]D KOOOODOOOD, p00000 GOODOO0ODOOO,
GO KOOOO
p:G—GL(V), o p(o)
ggogd.
00,G0KOOODO p:G—GLV)00000000,2=3,.4a,0¢€ K[G]OOOT
p(x) = asp(o)

ceG

0000 VOOVOOOOODOO0O0 p(z)0000,
p: K[G] = End(V), x p(z)

0 KOODOUOOOoOOoUoUooOoooooOo.oooo, pO KGO KOoooooo.
00000000,0 GO0 KOOODOOOO K[G)O KOoOooooooooo.

O0A 0000
Al 0O0OO

A1l 0OD0OOOO

KOOODOD.0000 KOOOOOO KOOOOOODOOO0OO0OO0. 0000 KX000.0
oo,K*=kK\{0}y000.

0000.,0000,K00000000.-,000000000000000 GL(n,K)OOD.

KO0O0OOOOVOO0OOOo,vO0OoVvVOOOo KO0O0O0O000000000 GL(v)ooo.
GL(V)00O0O0D00000000000.

KO0DOOOODOVO.O000000000,VO000010000000,000000000
0000000000000000,GL(V)0 GL(n, K)0ODODOOO000000000. 00,
n=1000 GL(V)2GL(1,K)=K*000.
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000 AOGL(V)O GL(n, K)0OODOODODOOOO.

A.l.2 OO0OO

nO0O0000000.

000 A20n00000 A=(ay;) 0000000 a3 +am+--+am D ADDOODOO
O, TrA0OD.

A, BOnODOOOOOO,
Tr(A+B)=TrA+TrB, Tr(AB)= Tr(BA)
DO000O0. BOODOOOO
Tr(B~'AB) = Tr(BAB™ ') =Tr A
ooood.

000 A30VOO KOOOOOOOO,f0VOOVOOOODODOOOO0O0O.vVOOOOO
0000 f000000 ADDOODOO,TrAD 00000000, Trf000.

000 A4000000CO00OO0DOOO,vOOoOoOOOOoOooOoOoOoooDO.

f,g0voovoOoooooooooo,
Te(f+g)=Trf+Trg, Tr(fog)=Tr(go f)
00000.¢00000000
Tr(g'ofog)=Tr(go fog ') =Trf
ooooo.
A.1.3 O0O00OO
0000,0 KOROOOCOOOOOO.V, WO KOOOODOOOOO.

000 AS000 B:VxW—-KOOOOOOOOOOOOOOoOoOOOOO,0000000
gopoooo.

e D00, 2’ €eV,yeWOUOOU, B(x+2',y) = B(z,y) + B(2',y).

e D00 zeV,y,y eWwoono, B(zx,y+y') = B(z,y) + B(x,y).
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e D00 aeK,zeV,yeWODOU, B(az,y) = B(x,ay) = a- B(z,y).

V=wooo,BOvVvooooooooono.

o00 Ae0O00DD B:VxW—-KOWOUOOODOOOO,yeWwWOGoooO,000O
xeV0O00O0O B(z,y) =00000 y=000000000.000,00000B:VxW-oK
OvVOooOoooooOO,zeVOOOO,0000yeWOOO00O B(z,y)=000002=0
gooooooo.wiobOviooooooooogo,Booooobooooo.

000 A7000000 B:VxV > KOVOOOOOOOOOOOOOO,000a,yeV
0000 B(z,y)=B(y,z) 0000000000.

000 AS0O0DOOOOD B:VxW—-KO0OOO0O,1000VvVvOOOOOOOO 200
gvoooooooooooooob.oooo,0b0o000voOoooooobo BOoOOODODOO.

Al4 0O0OOOOOOODOO

O000,0 KOROOOCOOOOOO.vVO KOoooooooOoO.

000 A90O0O B:VxV—-KOVOOOOODOOOODOOOOOOOOOOOoOoooo
gbooogo,0oooboobooooooo.

e 000 x,2/,yeVODOOO, Blx+2a',y) = B(z,y) + B(z',y).
e 000 z,y,y €eVOOOO, B(z,y+y) = B(z,y) + B(z,y).
e U00aee K,z,yeVOIODOO, Blaz,y) = B(z,ay) = a- B(z,y).

e 000 z,yeVOOOO B(x,y) = By, z).

000 A0 K =RO0ODO,00000000O0000D0COOO0DCOOO.

000 A.1100000000000B:VxV —-KOOOO,20000
e yceWDODODD,00002€eVO000 B(z,y)=00000 z=0.
ez2cVO00D0,0000yeVOO00 B(a,y)=00000 y=0.

goooboo.oooooobooooooooob,pODOOOODOOO.
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000 A120V 000000000000 B:VxV >KOOOO,000zeV 0000
B(z,z)000000.

000 Aa3DviOoOoDOoOoOooDoOoOO000 B:VxV—-K0OOOO,
e J002zeV,2£00000 B(z,x) >00000000,BO0O0O0ODOOOO.

e J0UJ2zeVOUUOU B(x,x)>00000000,BO0O0O0ODOOOOO.

000 A4a00000000DOOO00O0DODOOODOOD.

000 Al KOOOOOO vOoOoOoOoOoOoOoOoOOOoOooooo Bovoooooo. oo,
x,yeVOOOOD,BOOUOO B(z,y) 0 x0y000000. 000000000000 0OOO
gbooooooo.

000 Al60 K =ROO0O,000000000000000000000000000O0O0OO.

A2 0O

A21 00O

000 Al70DO0 GO 2000 @, b00000000,00zeG0O0OOO0O

b=zxazr~!
O0ooooooo0o0. 00000000 Goooooooo. 0o Gooooooo.
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